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#include <{stdio. h>
typedef struct nodel
int key,
struct node *|eft:
struct node *right;
} node:

node* search{node *ptr, int key) {
if(ptr == NULL) return{NULL);
if(key < ptr—>key) return(search (ptr->left, key)):
else if(key == ptr->key) return{ptr):

else return( )i

}

node* insert(node *root, int key) |
node *new, *ptr;
if ({new = malloc (sizeof (node))) == NULL) exit(1): (1)
new—>key = Key;
new—>left = new->right = NULL:
if(root == NULL)} return{new); /* first node as root */
ptr = root.
while{(ptr 1= NULL) {
if(key < ptr->key) {
if (ptr->left == NULL) {
ptr->left = new; break;

}

lelsel
if(ptr—>right == NULL) {
ptr—>right = new: break; E1 AEVETHICEBEATEY
] IS—KTLEVWERET S
ptr = C ; F2: BEEIZEFBAL main HTARE
}
]
return(root) ;
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